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RRC Group-D Exam. – Practice Set
Answers with Explanation

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (c)
2. (d)
3. (c)
4. (b)
5. (a)
6. (b) 1809 ¢yöìœ îû’!‹ê !¢‚ ç œvÅþ !›öìrÝþyîû ›öì•Ä ~£z ‰%þ!_«

ßþºyÇþ!îû“þ £ëûÐ
7. (a)
8. (b)
9. (a) ²Ì!“þ!Ýþ „þÇþþ™öìí 4!Ýþ „þöìîû vþzþ™@ùÌ£ îûöìëûöìŠéÐ
10. (b)
11. (b)
12. (c)
13. (c)
14. (d)
15. (b)
16. (c)
17. (a)
18. (a)
19. (c) ›y˜%öì¡ìîû ö”öì£ 1-2 !œÝþyîû œ!¢„þy íyöì„þÐ œ!¢„þyëû ö„þîœ›ye

!œöìÁ³þy¢y£zÝþ öÙ»“þ„þ!’„þy íyöì„þ– ëy öîûy†‹#îy’% •¹‚¢ „þöìîûÐ
îû_« öë ¢„þœ ßþiyöì̃  öþ™¤ïŠéyöì“þ þ™yöìîû ˜y– œ!¢„þy ö¢¢î ßþiyöì̃
…y”Ä ç x!:öì‹˜ öþ™¤ïöìŠé ö”ëûÐ

20. (a)
p 3 3

p q
q 4 4
  

3 1
q qq p 14 4

3 7q p 7q q
4 4


   
 

q p 1 1 1
0

q p 7 7 7


    


21. (c)
22. (b) xy›îûy ‹y!˜–

1 + 2 + 3 + ... + n =
1

2
n(n + 1)

 23 + 24 + 25 + ... + 99
= (1 + 2 + 3 + ... + 99) – (1 + 2 + 3 + ...
+ 22)

=
1

2
× 99 × (99 + 1) –

1

2
× 22 × (22 + 1)

= 4950 – 253 = 4697

23. (c) “þy›y (60% – 80%) ç ”hßþy (40% – 20%) •y“%þmöìëûîû
¢‚„þîû £œ !þ™“þœÐ

24. (b)

25. (b) •îûy ëy„þ– ›,’yœ x ›y¢ þ™öìîû îÄî¢yëû ë%_« £öìëû!ŠéœÐ
öëöì£“%þ vþz¦þöìëûîû ›)œ•˜ ¢›y˜–
 18000 × 12 = (12 – x) × 24000
 9 = 12 – x  x = 3

26. (c)

27. (b)

28. (b) öÝþÆ̃ !Ýþîû †!“þöìî†
5 25

45
18 2
   !›/ö¢

22 ö¢öì„þöìuþ öÝþÆ̃ !Ýþ x!“þe«› „þöìîû
25

22 275
2
 

= 275 !›Ýþyîû
 ²ÕÄyÝþšþöì›Åîû ÷”‡ÅÄ = 275 – 200 = 75 !›Ýþyîû

29. (b)

30. (b)

31. (b) •!îû– 35 ‹˜ öœy„þ x !”öì̃  „þy‹!Ýþ ¢Á™§¬ „þöìîûÐ
 28 ‹˜ öœy„þ (x + 5) !”öì̃  „þy‹!Ýþ ¢Á™§¬ „þöìîûÐ

35 x
x 5 x 20

28


    

ë!” 70 ‹˜ öœy„þ D !”öì̃  „þy‹!Ýþ ¢Á™§¬ „þöìîû– “þy£öìœ
70 × D = 35 × 20  D = 10

32. (c) •îûy ëy„þ– P ›)œ•öì̃ îû 4 îŠéöìîûîû ¢%”
7

P
25

 Ýþy„þy

~…˜–

7
100 P100 I 25R % 7%

PT P 4


  



33. (c)

34. (c) î,_ßþi ‰þ“%þ¦Å%þöì‹îû !îþ™îû#“þ ö„þy’ þ™îûßþ™îû ¢Á™)îû„þÐ xíÅyê
180°Ð
!˜öì’Åëû ö„þyöì’îû ›y˜ 180° – 70° = 110°Ð

35. (a) (a) 30 – 6 + 5 × 4 ÷ 2  30 ÷ 6 × 5 + 4
– 2 = 27

(b) 30 + 6 ÷ 5 × 4 – 2  30 × 6 – 5 + 4
÷ 2 = 177  30

(c) 30 ÷ 6 + 5 × 4 – 2  30 – 6 × 5 + 4
÷ 2 = 2  35

(d) 30 × 6 + 5 – 4 ÷ 2  30 + 16 × 5 ÷ 4
– 2 = 48  38

xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å
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36. (c) šþ¢šþîûy¢ S¢y”y P
4
V îy“þyöì¢îû x!:öì‹öì̃ îû ¢öìD !î!e«ëûy

„þöìîû ç xy=˜ ‹µöìœ çöìàþÐ
P

4
 + 5O

2
 = 2P

2
O

5

37. (b) •!îû– ¢‚…Äy ”%!Ýþ 3x ~î‚ 5x

3x ç 5x ~îû œ¢y= = 15x
 15x = 165  x = 11
¢‚…Äy ”%!Ýþîû =’šþœ = 15x2 = 15 × 121 = 1815

38. (a)
39. (a) •!îû– !ßþiîû ‹öìœ ö˜ï„þyîû öî† x !„þ!›/‡ ù̂Ýþy ~î‚ ößþËyöì“þîû

öî† y !„þ!›/‡ ù̂ÝþyÐ

²ÌÙÀy˜%¢yöìîû–
9

2
(x + y) = 12(x – y)

x 33
15x 33y x : y 33:15

y 15
     

40. (a) £Äyöìœy‹˜ †Äy¢ £œ ö„Ïþy!îû̃ (Cl
2
) šÏ$þ!îû̃ (F

2
)Ð ~Šéyvþüy

öîÊy!›˜– xyöìëûy!vþ˜ ç £Äyöìœyöì‹˜ †Äyöì¢îû xhsþ¦%Åþ_«Ð
41. (c) C = 3  (3 + 1)2 = 16,

F = 6  (6 + 1)2 = 49
42. (b) ‰þyþ™ î,!kþ „þîûöìœ îîûöìšþîû †œ˜yBþ (0°C) îyvþüöìîÐ

43. (c) ›!£œy !þ™“þy þ™%e ßþf# ›#îûy ßþºy›#
ŸyÖ!vþü

¦þy£zöìëûîû þ™%e  ¦þy£zöìþ™y=

44. (d)

2
1

P 1 P 630
100

    
 

121
P 1 630

100
     

630 100
P 3000

21


  

¢îûœ ¢%” PRT
(I)

100


3000 10 4
1200

100

 
 

45. (d) !ßþ³þ†öì›y›Äyöì̃ y!›Ýþyîû myîûy îû_«‰þyþ™ ›yþ™y £ëûÐ
46. (b) •îûy ëy„þ– e«ëû›)œÄ 4x,

!îe«ëû›)œÄ 5x, œy¦þ = 5x – 4x = x

œy¦þ =
x

4x
× 100% = 25%

47. (a) S

R

–1
U M M E R

U N N E R

0 +1 +1 0 0

W

V

–1
I N T E R

I O U E R

0 +1 +1 0 0

48. (b)

49. (a) !þ™îûy!›öìvþîû xyëû“þ˜ =
1

3
× ¦)þ!›îû öÇþešþœ × vþzF‰þ“þy

 ¦)þ!›îû öÇþešþœ
12 3

4 3
3 3


   î†Åöì¢!›


3

4
× îyý2 = 4 3

 îyý = 4 ö¢!›
50. (c)
51. (d) PV = RT ... (i)

V
1
 = 2V, T

1
 = 2T

 P.2V = R.2T  PV = RT  P =
RT

V
xyëû“þ˜ ç “þyþ™›yey !m=’ „þîûöìœ †Äyöì¢îû ‰þyþ™ xþ™!îûî!“Åþ“þ
íyöì„þÐ

52. (c) îûyhßþy!Ýþîû ö›yÝþ öÇþešþœ = 30 × 4 + 20 × 4 – 4 ×
4 S›yöìGþîû x‚Ÿ!Ýþ ”%îyîû ö˜çëûyîû ‹˜ÄV
= 120 + 80 – 16 = 184 !›2

!¢öì›rÝþ !”öìëû î¤y•yöì“þ ö›yÝþ …îû‰þ þ™vþüöìî
= 184 × 250 = 46000 Ýþy„þy

53. (d)
54. (b) 43 + 4 = 68, 53 + 5 = 130, 73 + 7 = 350,

63 + 6 = 222

55. (d) ö×!’!Ýþ £öìî

r  t u s / r t u  s / r t  u s/ r t u s

 !˜öì’Åëû xÇþîû rsurts

56. (d)
1

1/3 1 1/33 1 1
log x x 3 x

3 3
       

 3 = x1/3  x = 33 = 27

57. (c) !e¦%þ‹!Ýþîû ¦þîûöì„þöìwîû ßþiy˜yBþ

1 2 3 1 2 3x x x y y y
,

3 3

      
 

7 2 4 5 5 6
, (3, 2)

3 3

       
 

58. (b) (56 + 15) – (22 + 8) = 71 – 30 = 41
(46 + 9) – (10 + 6) = 55 – 16 = 39
(34 + 11) – (14 + 6) = 45 – 20 = 25

59. (c) x = 90° – y £öìî– sin2x + sin2y = 1

 sin2x = 1 – + sin2y

 sin2x = cos2y
 sin2x = sin2 (90° – y)
 x = 90° – y

60. (c) hßþöì½þîû vþzÍÔÁº “þœ=!œîû öÇþešþœ
xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

= ¦)þ!›îû þ™!îû¢#›y × hßþöì½þîû vþzF‰þ“þy
20

4 15
100

    î†Å!›ÝþyîûÐ

¢%“þîûy‚ !˜öì’Åëû …îû‰þ
20

4 15 2.25
100

     Ýþy„þy

= 27 Ýþy„þyÐ

61. (b) ÝþÆy!þ™!‹ëûyöì›îû öÇþešþœ
1

2
  S¢›yhsþîûyœ îyýmöìëûîû ¢›!ÜTV

× œÁº ”îûc

=
1

2
(17 + 11) × 15 î†Åöì¢!› = 210 î†Åöì¢!›

 !²Ì‹›!Ýþîû ‡˜šþœ = ¦)þ!›îû öÇþešþœ × vþzF‰þ“þy

 vþz£yîû vþzF‰þ“þy
!²Ì‹›!Ýþîû ‡˜šþœ
¦)þ!›îû öÇþešþœ=

4200
20

210
   ö¢!›

 !²Ì‹›!Ýþîû !˜öì’Åëû vþzF‰þ“þy = 20 ö¢!›Ð
62. (c) •!îû– ö„þy’ ”%!Ýþîû ›y˜ A ç B !vþ!@ùÌÐ

 A + B = 135°
A – B = 100g = 90°

135 90 1
A 112

2 2

  
   

225 5

2 180 8

 
   öîû!vþëûy˜Ð

1 1
B 135 112 22

2 2
     

45

2 180 8

 
    öîû!vþëûy˜Ð

63. (c) cos4 – sin
= (cos2)2 – (sin2)2

= (cos2 + sin2)(cos2 – sin2)

= (sin2 + cos2) ×
1

2
 [cos2 – sin2 =

1

2
]

= 1 ×
1

2
 [ sin2 + cos2 = 1]

=
1

2

64. (d)
sin cos 5

sin cos 1

  


  

îy–
sin cos sin cos 5 1

sin cos sin cos 5 1

       


       

îy–
2sin 6

2cos 4





îy–
sin 3

cos 2





îy–
3 1

tan 1
2 2

  

65. (b) ABCéôé~îû
A + B + C = 180°, A : B : C = 2
: 5 : 3
•!îû– ¢y•yîû’ x˜%þ™y“þ = x°
 2x° + 5x° + 3x° = 10°x
xyîyîû 10°x = 180°
îy x° = 18°
 A = 2x° = 2 × 18° = 36°
B = 5x° = 5 × 18° = 90°
C = 3x° = 3 × 18° = 54°

 î,£_› B = 90°
c c90

180 2

 
 

66. (a) sin = cos2
îy– sin = sin(90° – 2
îy–  = 90° – 2
îy–  = 90°

îy–  =
90

3


= 30°

67. (d) sin2 = cos3
îy– sin2 = sin(90° – 3
îy–  = 90° – 3
îy–  = 18°

68. (c) sin2 3 = sin2 87
 sin87° = sin(90 – 3°) = cos3°
 cos2 3 = sin2 87
 sin2 3 + sin2 87
= sin2 3 + cos2 3
= 1

69. (b) 35 * 2 = 70 = 07, 63 * 1 = 36 = 63, 13 * 3 = 39 = 93

70. (c) AVINASH = 93
1 + 22 + 9 + 14 + 1 + 19 + 8
KUMARESH = 96
11 + 21 + 13 + 1 + 18 + 5 + 19 + 8
AMARESH = 65
1 + 13 + 1 + 18 + 5 + 19 + 8

71. (b) Rice ~îû !îKþy˜¢Á¿“þ ˜y› Oryza SativaÐ Maize ~îû
!îKþy˜¢Á¿“þ ˜y› Zea MaysÐ

72. (c) îû!î ›yöìëûîû !þ™“þyîû ßþf# = îû!î ›yöìëûîû ›öì“þy
îû!îîû ›yöìëûîû ›y“þyîû öŠéyÝþ „þ˜Äy = îû!îîû ›yöìëûîû öîy˜
 šþöìÝþyöì“þ íy„þy ›!£œy îû!îîû ›y!¢ £ëûÐ

(73-77) :

F
C

A

B G

H
D

E

73. (c)

xÄy!‰þ¦þy¢Å
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74. (c)
75. (a)
76. (c)
77. (a)
(78-82) :

!›œ˜  ›•%  ›y•î  ŸÄy›  îûy›
78. (b)
79. (b)
80. (d)
81. (a)
82. (c)

83. (a) DEBHASISH =
75

9
4 + 5 + 2 + 8 + 1 + 19 + 9 + 19 + 8

ARINDAM =
60

7
1 + 18 + 9 + 14 + 4 + 1 + 13

PRIYANKA =
95

8
16 + 18 + 9 + 25 + 1 + 14 + 11 + 1

84. (c)

15 8

17

3 124 5

5 13

15  +  822 3  +  422 12  +  522

172 52 132

(85-90) :

îû!îôôôé öîDyœ%îû& !ŸÇþ„þ
›”˜ôôôé þ™%öì’ £z!O!˜ëûyîû
×#“þ›yôôôé ö‰þ§¬y£z/!”!ÍÔ vþy_«yîû

“þ›yœéôôôé ö‰þ§¬y£z/!”!ÍÔ vþz!„þœ
ö‹Äyêßþ¬yéôôôé „þœ„þy“þy x!¦þöì̃ “þy
„þy„þ!œéôôôé ›%Áºy£z †yëû„þ

85. (b)
86. (d)
87. (d)
88. (d)
89. (b)
90. (c)
91. (a) £zöìëûöì›öì̃ îû ~öìvþ˜ vþzþ™¢y†öìîû ¦þyîû“þ ç ‹y›y! Å̃îû ö˜ïîy!£˜#îû

›öì•Ä ¢y›!îû„þ ö˜ï›£vþüy x˜%!Ûþ“þ £œÐ
92. (c) ç!›ëûy› £z!uþëûy ²Ìy£zöì¦þÝþ !œ!›öìÝþvþ ¦þyîûöì“þîû ²Ìí› !@ùÌ˜

£y£zöìvÈþyöì‹˜ £zöìœ„þöìÝþÆyœy£z¢îû šþÄyQ!îû öîDyœ%îû&öì“þ ßþiyþ™˜
„þîûœÐ

93. (a) ‹y“þ#ëû e«#vþüy !”î¢ ²Ì!“þîŠéîû 29 xy†ÞÝþ þ™yœ˜ „þîûy £ëûÐ
94. (b) £zöì̈ yéôé!“þî¹“þ îvÅþyîû þ™%!œŸ öšþyöì¢Åîû !vþ!‹ !£¢yöìî ¢Oëû

xöìîûyîûyöì„þ !˜ë%_« „þîûy £œÐ
95. (b) !î~¢~öìšþîû !vþ!‹ !£¢yöìî ¢Á±!“þ þ™Bþ‹ „%þ›yîû !¢‚öì„þ

!˜ë%_« „þîûy £œÐ
96. (a) ö„þw#ëû xyëû%¡ì ›sþföì„þîû “þîûšþ öíöì„þ Y Break ˜y›„þ ö›yîy£zœ

xÄyöìþ™îû ¢)‰þ˜y „þîûy £œÐ
97. (d) ö„þw#ëû xíÅ›sþf# !˜›Åœy ¢#“þyîû›˜ !eþ™%îûyëû ˜yîyöìvÅþîû vþzöì”Äy†

'My Pad My Right' ~îû ¢)‰þ˜y „þîûöìœ˜Ð
98. (c) ~˜~¢!‹ îy ˜ÄyŸ˜yœ !¢!„þvþz!îû!Ýþ †yöìvÅþîû “þîûšþ öíöì„þ “,þ“þ#ëû

îyê¢!îû„þ ¢sþfy¢îy” ”›˜ ¢y›!îû„þ ›£vþüy 'Gandiv' ~îû
xyöìëûy‹˜ „þîûy £öìëû!ŠéœÐ

99. (d) xy!œëûy ¦þyÝþöì„þ ¢Äy›¢y‚ £z!uþëûyîû “þîûšþ öíöì„þ Galaxy Z
öšþyÓþyöìîœ ßþ¿yÝÅþöìšþy˜ !¢!îûöì‹îû îÊÄyuþ xÄyÁºy¢yvþîû !£¢yöìî
!˜ë%_« „þîûy £œÐ

100. (b) övþœ öÞÝþ£z̃  ”!Çþ’ xy!šÊþ„þyîû ö…öìœyëûyvþüÐ

xÄy!‰þ¦þy¢Å


